Untitled.notebook November 09, 2015

M 3000
e\o+
* o
L)X +><§ﬁ
2
7\
3(dxe) = 203x-1)
o~ ~
12x +3 = x -/
bx +3 = =272
px = =2
oX. -5
© o
X=-9



Untitled.notebook

November 09, 2015

Isd “
— _L\(’b/y\ X'%A
—X *i- =35+ B
5 b L\ 3
cp ‘EAX -\-z?( +L:i
o LY 956 3
5
-8 X+ 15y T -
[55 20:](0 5
-z .
A X +~5"7
20 b 3 °
Zy o 81 o
20 3t
1)(::’!____’_
20 b b
3 X = 4>
w0 O
ENE
207p2Z-
(7)) = (3X20)
) Yx = O
14 B
X:GOZL
14"
X=- 3o 7
7730
Y-15) "2
H/w 2
P\D-:’-



	Page 1: Nov 9-11:11 AM
	Page 2: Nov 9-11:17 AM

